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Introduction

1.1 Objectives

= 2N 20179fHE 2907 2ZEQI0 S J|E 82l Team 40| 7H&3t Point of
Sale System& Unit Testing= &2t A1t0| TSt Report =A{O|Ct Test R4S0f LS
Test Case?} Test =& Zutof Ot WES 2 UCL

1.2 References
[2017SE_B][TP#1]SRA_Team4_rev3
[2017SE_B][TP#2]SDS_Team4_rev2
[2017SE_B][TP#3]UTP_Team4

Unit test case specification

2.1  Test case specification identifier
Identifier Feature Pass / Fail Criteria
POS.UTC.111 | Sale Process 7| SE=X| &¢l SALE = TRUE/False
POSUTC.111. | HIO|HE &3l Z=0/22 HXAE 51X Ha
00
POS.UTC.121 | Refund Process 7} SE&X| =0l REFUND = TRUE/False
POS.UTC.121. | OO & TEot= B=E0|E2 HAE SHX| H3
00
POS.UTC.131 | Inventory Check Process 7t S2&X| | CHECK = TRUE/False

2tol
POS.UTC.131. | HIO|HE TEdt= ZE0|22 HAE 3K §is
00
POS.UTC.141 | Power Process 7| S2=X| =9l POWER_OFF =
True/False
POS.UTC.141. | HIO|H & TE3t= ZE0|E2 HAE SHX| RS
00
POS.UTC.151 | SalesList Merging &T|l=X| 2@l Saleslist_server_Mergin
g = 0 or True
POS.UTC.151. | input: Saleslist_server_Mergin
00 char saleFileTestServer[] = g=0
"test_sale_management.txt";
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expected : 0

POS.UTC.151.
01

input:

char saleFileTestServer[] =
"test_sale_management.txt";

char receipt_code[20] =
"2017.11.04.09.36";

SoldData * sold_data = (SoldData
*)malloc(sizeof(SoldData) * total_item);
strcpy((sold_data)->item, "TFX}");
(sold_data)->money = 1000;
(sold_data)->quantity = 2;
((sold_data)->pay) = 2000;

expected : 1

Saleslist_server_Mergin

g=1

POS.UTC.151.
02

input:

char saleFileTestServer[] =
"test_sale_management.txt";

char receipt_code[20] =
"2017.11.04.09.36";

SoldData * sold_data = (SoldData
*)malloc(sizeof(SoldData) * total_item);
strcpy((sold_data)->item, "2FXF");
(sold_data)->money = 1000;
(sold_data)->quantity = 2;
((sold_data)->pay) = 2000;
strcpy((sold_data+1)->item, "&");
(sold_data+1)->money = 500;
(sold_data+1)->quantity = 2;
((sold_data+1)->pay) = 1000;

expected : 2

Saleslist_server_Mergin

g=2

POS.UTC.152

Inventory Merging &|&=X| =0l

Inventory_server_Mergi

ng =0 or 1

POS.UTC.152.
00

input:
char productTestServer[] =

"test_product.txt";

Inventory_server_Mergi

ng =0
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[temData* itd =

(ItemData*)malloc(sizeof(ltemData));

expected : 0
POS.UTC.152. | input: Inventory_server_Mergi
01 char productTestServer|[] = ng

"test_product.txt";

ltemData* itd =
(ItemData*)malloc(sizeof(ltemData) *
8),

expected : 1

POS.UTC.211

Main Controller 7t MCHZ2 ™| =X

=g =
3}9| ZE2N2)0|EZ Test
M 2
POS.UTC.211. | IO|HE T Edl= ZE0|EE HAE SHX| Y3
00
POS.UTC.212 | Update_Cashier_Screen 7} & Update_Cashier_Screen
[0 X| =X =l =0 or 1
POS.UTC.212. | input : Update_Cashier_Screen
00 char ca[1000]; =0
sprintf(ca,”");
expected : 0
POS.UTC.212. | input : Update_Cashier_Screen
01 char ca[1000]; =1
sprintf(ca,"Wn%-15s %-15s %-15s#n",
W e Y,
expected : 1
POS.UTC.213 | Update_Customer_Screen 7| =¥ Update_Customer_Scre
O X=X =l en=0 or 1
POS.UTC.213. | input: Update_Customer_Scre
00 char ct[1000]; en=0
sprintf(ct,"");
expected : 0
POS.UTC.213. | input: Update_Customer_Scre
01 char ct[1000]; en =1

sprintf(ct,"Wn O}
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SR %d 3 %d 2 %d Y %d Al %
d &%n", 2017, 1,1, 1, 1);

expected: 1

POS.UTC.214

Print_Receipt 7t =& E|O{X|=X|
2ol

Print_Receipt=0 or 1

POS.UTC.214.

00

input:

char testReceipt[] = "stock_test.txt";
char str[1000];

sprintf(str, "");

Print_Receipt = 0

expected: 0
POS.UTC.214. | input: Print_Receipt = 1
01 char testReceipt[] = "stock_test.txt";

char str[1000];

sprintf(str, "%-15s %-15s %-15s#n",
llé)l-%ll, |||:I_|.7|_||, ll_)'\_aol:ll);

expected: 1

POS.UTC.215

Run O %&ot=4A| 2ol X

HOIE{ Al Run =0

Run =0 or 1

POS.UTC.215.

00

Main 1 OHEEZER| 2 HIO|HE HE o=

51X e

HE0|EZ HAE

POS.UTC.216

Reset_Saleslist 7} =3 T|0{X|=X]
2}l

Reset_Saleslist = 0 or 1

POS.UTC.216.

00

input:

char saleFileTestServer[] =
"test_sale_management.txt";

char receipt_code[20] =
"2017.11.04.01.28";

SoldData * sold_data = (SoldData
*)malloc(sizeof(SoldData) * (1+1));
strcpy((sold_data)->item, "&");
(sold_data)->money = 500;
(sold_data)->quantity = 2;
((sold_data)->pay) = 1000;

len = 0

expected: 0

Reset_Saleslist = 0
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POS.UTC.216.

01

input:

char saleFileTestServer[] =
"test_sale_management.txt";

char receipt_code[20] =
"2017.11.04.01.28";

SoldData * sold_data = (SoldData
*)malloc(sizeof(SoldData) * (1+1));
strcpy((sold_data)->item, "=");
(sold_data)->money = 500;
(sold_data)->quantity = 2;
((sold_data)->pay) = 1000;

len = 1

expected: 1

Reset_Saleslist = 1

POS.UTC.217

Update_Sales_List 7t =3 E|O0{X|=X]

240l

Update_Sales_List = 0

or 1

POS.UTC.217.

00

input:

char productTestServer|[] =
"test_product.txt";

len = 0;

expected: 0

Update_Sales_List = 0

POS.UTC.217.

01

input:

char productTestServer[] =
"test_product.txt”;

len = 1;

expected: 1

Update_Sales_List = 1

POS.UTC.218

Update_Inventory 7} =% &[0 X|=X|

29l

Update_Inventory = 0

or 1

POS.UTC.218.

00

input:

char productTestServer|[] =
"test_product.txt";

len = 0;

expected: 0

Update_Inventory = 0

POS.UTC.218.

01

input:
char productTestServer[] =

"test_product.txt";

Update_Inventory = 1
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len = 1;
expected: 1
POS.UTC.219 | Reset_Inventory 7t =& E|O|X[=X| Reset_Inventory = 0 or
=il 1
POS.UTC.219. | input: Reset_Inventory = 0
00 char productTestServer[] = "";
expected: 0
POS.UTC.219. | input: Reset_Inventory = 1
01 char productTestServer|[] =
"reset_product.txt”;
expected: 1
2.2  Test items
Table 1 Test Design Identification &=
2.3 Input specifications
Table 1 Test Design Identification &=
2.4 Output specifications

SES

Table 1 Test Design Identification

3 Environmental needs
4 Unit test summary report
4.1  Test summary report identifier
Identifier Feature Pass / Fail Criteria Test
Resu
It
POS.UTC.11 | Sale Process 7} SE2£X| =9l SALE = TRUE/False
1
POS.UTC.11 | HIOIHE TYdt= ZE0|EE HAE SIX| %S
1.00
POS.UTC.12 | Refund Process 7} S2&=X| =29l | REFUND =
[HAE Q3] Team 4 8
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1 TRUE/False
POS.UTC.12 | IO|HE HHdl= Z=E0|E2 HAE SHX| Y3
1.00
POS.UTC.13 | Inventory Check Process 7t CHECK = TRUE/False
1 SE2=X =290l
POS.UTC.13 | CIO|HE HHdl= Z=E0|E2 HAE SHX| Y3
1.00
POS.UTC.14 | Power Process 7} S2=X| =9l POWER_OFF
1 True/False
POS.UTC.14 | HIO|HE HEde Z=0|E2 HAE SHX] Y5
1.00
POS.UTC.15 | SalesList Merging &|=X| =9l Saleslist_server_Mergi
1 ng = 0 or True
POS.UTC.15 | input: Saleslist_server_Mergi | Pass
1.00 char saleFileTestServer[] = ng=0 ed
"test_sale_management.txt";
expected : 0
POS.UTC.15 | input: Saleslist_server_Mergi | Pass
1.01 char saleFileTestServer|] = ng = 1 ed
"test_sale_management.txt";
char receipt_code[20] =
"2017.11.04.09.36";
SoldData * sold_data = (SoldData
*)malloc(sizeof(SoldData) *
total_item);
strcpy((sold_data)->item, "THX}");
(sold_data)->money = 1000;
(sold_data)->quantity = 2;
((sold_data)->pay) = 2000;
expected : 1
POS.UTC.15 | input: Saleslist_server_Mergi | Pass
1.02 char saleFileTestServer[] = ng =2 ed
"test_sale_management.txt";
char receipt_code[20] =
"2017.11.04.09.36";
=) Team 4 9
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SoldData * sold_data = (SoldData
*)malloc(sizeof(SoldData) *
total_item);
strcpy((sold_data)->item, "IHXt");
(sold_data)->money = 1000;
(sold_data)->quantity = 2;
((sold_data)->pay) = 2000;
strcpy((sold_data+1)->item, "&");
(sold_data+1)->money = 500;
(sold_data+1)->quantity = 2;
((sold_data+1)->pay) = 1000;

expected : 2
POS.UTC.15 | Inventory Merging &|=X| =0l Inventory_server_Mer
2 ging =0or1
POS.UTC.15 | input: Inventory_server_Mer | Pass
2.00 char productTestServer[] = ging =0 ed
"test_product.txt";
ltemData* itd =
(ItemData*)malloc(sizeof(ItemData)
);
expected : 0
POS.UTC.15 | input: Inventory_server_Mer | Pass
2.01 char productTestServer[] = ging ed
"test_product.txt";
ltemData* itd =
(ItemData*)malloc(sizeof(ItemData)
*8);
expected : 1
POS.UTC.21 | Main Controller 7} H|CHZ EotNol BE ™G
1 23| =X S0l ITZM2A)0|BEE Test
M 2
POS.UTC21 | IOIHE HHdt= ZE0|E2 HAE SHX| Y3
1.00
POS.UTC.21 | Update_Cashier_Screen 7} =% Update_Cashier_Scre
E)| Team 4 10
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2 Lo X=X =l en=0 or 1
POS.UTC.21 | input: Update_Cashier_Scre | Pass
2.00 char ca[1000]; en =0 ed
sprintf(ca,”");
expected : 0
POS.UTC.21 | input: Update_Cashier_Scre | Pass
2.01 char ca[1000]; en = 1 ed
sprintf(ca,"Wn%-15s %-15s %-
15sn", " E", "=, "7HEn);
expected : 1
POS.UTC.21 | Update_Customer_Screen 7} =& | Update_Customer_Sc
3 Z|of X =] =2l reen=0 or 1
POS.UTC.21 | input: Update_Customer_Sc | Pass
3.00 char ct[1000]; reen = 0 ed
sprintf(ct,"");
expected : 0
POS.UTC.21 | input: Update_Customer_Sc | Pass
3.01 char ct[1000]; reen = 1 ed
sprintf(ct,"#n O}
2R %d d %d 2 %d Y %d Al
%d =¥n", 2017, 1,1, 1, 1);
expected: 1
POS.UTC.21 | Print_Receipt 7} =& E|O{X|=X| | Print_Receipt=0 or 1
4 g0l
POS.UTC.21 | input: Print_Receipt = 0 Pass
4.00 char testReceipt[] = ed
"stock_test.txt";
char str[1000];
sprintf(str, "");
expected: 0
POS.UTC.21 | input: Print_Receipt = 1 Pass
4.01 char testReceipt[] = ed
"stock_test.txt";
char str[1000];
sprintf(str, "%-15s %-15s %-
=] Team 4 11
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15s¥Wn",

expected: 1

}% , E|_|-7 non

4
o

POS.UTC.21
5

Run O] %&3t=A]

OIO|E{A| Run =0

Run =0 or 1

POS.UTC.21
5.00

Main 1} OHEZEX| 2 HO[HE TE

HAE SHX| @3

POS.UTC.21
6

Reset_Saleslist 7t =3 || X|=
20l

Reset_Saleslist = 0 or

1

POS.UTC.21
6.00

input:

char saleFileTestServer[] =
"test_sale_management.txt";

char receipt_code[20] =
"2017.11.04.01.28";

SoldData * sold_data = (SoldData
*)malloc(sizeof(SoldData) * (1+1));
strcpy((sold_data)->item, "2");
(sold_data)->money = 500;
(sold_data)->quantity = 2;
((sold_data)->pay) = 1000;

len =0

expected: 0

Reset_Saleslist = 0

Pass
ed

POS.UTC.21
6.01

input:

char saleFileTestServer[] =
"test_sale_management.txt";

char receipt_code[20] =
"2017.11.04.01.28";

SoldData * sold_data = (SoldData
*)malloc(sizeof(SoldData) * (1+1));

nDn

strcpy((sold_data)->item, "=");
(sold_data)->money = 500;
(sold_data)->quantity = 2;
((sold_data)->pay) = 1000;
len = 1

expected: 1

Reset_Saleslist = 1

Pass
ed

POS.UTC.21

Update_Sales_List 7t =%

Update_Sales_List =

Team 4

12




[

El
=

4.2

A

E

Ver. 1.0

(]|
=]

7 E|Of X=X =l 0or1
POS.UTC.21 | input: Update_Sales_List = Pass
7.00 char productTestServer[] = 0 ed
"test_product.txt”;
len = 0;
expected: 0
POS.UTC.21 | input: Update_Sales_List = Pass
7.01 char productTestServer[] = 1 ed
"test_product.txt";
len = 1;
expected: 1
POS.UTC.21 | Update_Inventory 7} =% Update_Inventory =
8 O X=X =2l 0or 1
POS.UTC.21 | input: Update_Inventory = Pass
8.00 char productTestServer[] = 0 ed
"test_product.txt";
len = 0;
expected: 0
POS.UTC.21 | input: Update_Inventory = Pass
8.01 char productTestServer[] = 1 ed
"test_product.txt”;
len = 1;
expected: 1
POS.UTC.21 | Reset_Inventory 7} +H Reset_Inventory = 0
9 [0 X=X =0l or 1
POS.UTC.21 | input: Reset_Inventory = 0 | Pass
9.00 char productTestServer[] = "*; ed
expected: 0
POS.UTC.21 | input: Reset_Inventory = 1 Pass
9.01 char productTestServer[] = ed
"reset_product.txt”;
expected: 1
Evaluation
E)| Team 4 13
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Total Test Case :

Passed : 19

Failed : O

19
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